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Blacks are more than capable of succeeding in our free capitalist economy,  
which has made America the greatest civilization in the history of the world. 
    Socialism, by comparison, has failed , and is cruel and oppressive. 
      

                  Equity teaches children that blacks are entitled 
             to compensation for financial losses caused  
             by racial inequality. Whites, that never owned 
            slaves, must give money to blacks that are not 
             slaves, and have no family history of slavery.  
             Reparations are wealth redistribution that  
             creates dependency and has no benefits. 
             Money alone is not the answer to solve  
             racial problems. We spent $22 trillion on the 
             “War On Poverty” and nothing changed.  
        

Slavery did not make us successful. The Southern states were the poorest    
and had slaves. The Northern states were the riches and had no slaves.  

    Why should whites living today be held accountable for slavery that ended in 1865? 
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